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ANSWER ALL QUESTIONS
PART--A (10x2=20 marks)

1. Match the words in ¢column A with their meanings in

column B {(Ax1/2=2)
A B
a) Transaction (1) great suffering
by Migrant (i) Danger
c} Disaster (iii) a piece of business
done between
people
d) Hazard (iv) Person who moves

from one place to
another place.

2. Fill in the blanks with appropriate forms of the
words: (dx1/2=2)

Verb Noun Adjective
(a)y Attract ~ ceeeee e




[image: image2.png]Rewrite the following using numerical expression:
(4x1/2=2)
a) A match lasting for 10 days.
b) At intervals of 10 minutes
¢) A DC supply of 240 volts
& A flask with a capacity of 20 litres

Fill in the blanks with definite / indefinite articles:
(4x1/2=2)
(a) Thanks to - efforts  taken for the

preservation of the Ozone layer.

®)

. atmosphere, the earth will continue to
remain ---— safer place in ---- future.

Write extended definition for the following :  {(2x1=2)
a) Modem
b) printer

Fill in the blanks with suitable prepositions: (4x1/2=2)

The international awareness ----- the dangers -
radioactive fallout —- atmospheric tests came -
thermo nuclear test.

Make pouns from the verbs given below by adding
suitable suffixes: (4x1/2=2)

a) collect ----
b) treat ----
c) perform ----

d) convey ----
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Combine the following sentences to express cause and
effect: (2x1=2)

a) The report was late.
The meeting was postponed.
b) There was heavy rain.
The match was cancelled.
Add suitable prefixes to the following words to form
negative meanings. 4x1/2=2)

(a) Appropriate

(b) Conduct

(¢) Legal

(d) Kind

Fill in the blanks with the correct forms of the words
given in brackets: (4x1/2=2)
As Anna started back down the hill, she -~ { be)
suddenly ----- (surround) by about 30 men. She was -

(scare) but she -~ (will) not let them see this.

PART—B (5%16=80 marks)

Read the following passages and answer the
questions that follow each passage

(a) Therapeutic cloning, also called “embryo cloning”,
is the production of human embryos for use in
research. The goal of this process is not to
create cloned human beings, but rather to
harvest stem cells that can be used to study
human development and to treat disease. Stem
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[image: image4.png]cells are important to biomedical researchers
because they can be used to generate virtually
any type of spectalized cell in the human body.
Stem cells are extracted from the egg after it
has divided for 5 days. The egg at this stage of
development is called a blastocyst. The
extraction process destroys the embryo, which
raises a variety of ethical concerns. Many
researchers hope that one day stem cells can be
used to serve as replacement cells to treat heart
disease, Alzheimer’s. cancer. and other diseases.
See more on potential use of cloning in organ
transplants: Cultivars are clones, having been
derived from a single individual, multiplied by
some process other than sexual reproduction. As
an example, some European cultivars of grapes
represent clones that have been propagated for
over two millennia. Other examples are potato
and banana .Grafting can be regarded as
cloning, - since all the shouts and branches
coming from the graft are genetically a clone of
a single individual, but this particular kind of
cloning has not come under ethical scrutiny and
is generally treated as an entirely different kind
of operation.

Say whether the following statements are True
or False: {4 x1=4)

(a) The purpose of embryo cloning is to create
cloned human beings.

(b) Blastocysts are cells that can be used to treat
heart disease.

{c) Stem cells can be used to generate any type
of specialized cells in the human body.

(d) One day stem cells are called as Blastocyst.
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A communications network is a collection of
transmitters, receivers, and communications
channels that send messages to one another.
Some digital communications networks contain
one or more routers that work together to
transmit information to the correct user. An
analog communications network consists of one
or more switches that establish a connection
between two or more users. For both types of
network, repeaters may be necessary to amplify
or recreate the signal when it s being
transmitted over long distances. This is to
combat attenuation that can render the signal
indistinguishable from the noise.

Answer the following in a sentence each: (4x1=4)
(a) Define Communication network.

(b) What are routers?

(c) Mention the use of repeaters.

@ What is the use of switches in analog
communication?

Due to the low received signal strength  of
satellite transmissions, they are prone to
jamming by land-based transmitters.  Such
jamming is limited to the geographical area
within the transmitter'’s range.GPS satellites are
potential targets for jamming. It is trivial to
transmit a carrier to a geostationary satellite and
thus interfere with any other users of the
transponder. It is common on commercial
satellite space for earth station to transmit at
the wrong time or on the wrong frequency and
dual illuminate the transponder rendering the
frequency unusable.
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[image: image6.png]Satellite operators now have  sophisticated
monitoring that enables them to pin point the
source of any carrier and manage the
transponder space effectively.

Choose the correct option. (4x1=4)

(i) Jamming
(a) hecome unable to function properly
(b) apply forcibly
{c) an awkward situation
(d) tightly wedged
(i) Trivial
{a) Shallow
(b) Inconsequential
{¢) Insignificant

(d) Of less importance

(ii)) Frequency
(a) Frequent occurrence,
(b) Being repeated at short intervals
(& Number of beats per minute

(d) Rate of recurrence

(iv) Sophisticate
(a) highly developed and complex
(b) mislead
(c) deprive of simplicity
(d) make artificial
[
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The current revolution in education, driven by
the rapidly advancing technology available, is
coupled with a renewed emphasis on learning
and knowledge development, rather than just the
absorption of information. With the proliferation
of information and its availability, some are
describing the current era as the “Knowledge
Age” |, with an overwhelming amount of
information within easy reach of Internet access.
The Knowledge Age puts an emphasis on
“learning to learn,” rather than acquiring specific
subject matter. The halimarks of the Knowledge
Age are perpetual, distributed, interactive, and
collaborative learning. Collaborative learning is
an umbrella term for a variety of approaches in
education that involve joint intellectual effort by
students or students and teachers. Collaborative
learning refers to methodologies and
environments in which learners engage in a
common fask.

Complete the following statements: (4x1=4)

G The current era of education is described

@) The absorption of information is secondary

(iii) Education that involve joint intellectual
effort by students or students and teachers
is termed as er--recommo-evesmmmmnnnneeeas

(iv) Emphasis is on “learning to learn” in --------
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@

(i)

@

As the purchase officer of your College, draft
a call for quotation for the items mentioned
below for your Language Lab. Assume the

necessary details. 8)

Teacher headsets 10 _Nos j

Students headsets 300 Nos

Computers . 30 Nos

AC units - 3  Nos

uPs - 2 Nos i‘
Or

Place the order for the items mentioned
above with the company who satisfied your
terms and conditions. Assume Decessary
details. )

The following advertisement appeared in
“The Hindu"

[Job_advertised . | Production Manager

Qualification ;| MBA

Specialization 1 | Production
Management _4

Experience - | 3 years

Age . I Not exceeding 30

[ years

Apply within 15 days with your Bio-data to
The Managing Director, P.Box No.164 Clo
The Hindu, Bangalore 7. Assume the
necessary details. (8)

Write a set of  eight important
recommendations to avoid road accidents )

Or




[image: image9.png](i) Prepare a checklist for safety in the
construction of temporary structures that
are put up for public functions. 8)

() () Write a paragraph of 150 words comparing
News papers and Journals as mass media. (8)

Or

(ii) Write descriptive paragraph on hybrid solar
cooker in about 150 words. 8)

14. (a) (i) Define “Reports” with the elements of structure
of a Report. ®)
Or
(i)  Explain briefly the different types of reports.(8)
() (@ One of your class mate met with an
/ accident on -the road in front of your

college. Report this' matter to your Principal
suggesting some preventive measures. (8)

Or
(i) You have just vreturned from your
Industrial visit to the Power Plant at
Kalpakkam. Prepare a detailed report about
your trip. ®)
15. Write an essay not exceeding 300 words.
(a) Use of Nuclear energy for constructive purposes. (16)

Or

(b) Increasing traffic problems and solutions. (16)
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